Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in Assam
Rifles Examination, 2018
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Section : General Section
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Question ID : 9895807302
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Section : English Language
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Question ID : 9895807955
Chosen Option : --

Q2 gelact the synonym of the given word.

ELAPSED

Ans 1. Persuaded
& 2 Connected
& 8 Ceased

W 4 Prolonged

Question ID : 9895807946
Chosen Option : --

Q3 gelect the word which means the same as the group of words given.

A close fitting cover for the blade of a knife or sword.

Ans  of 1. Packet
2 2 Pouch




2 3 Sheath
X 4 Mask

Question ID : 9895807952
Chosen Option : --

Q4 fefeer the most appropriace woud to fill in the hlank.
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Tou photographe, son oo net bave w waic for vour big break.
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Question ID : 9895807936
Chosen Option : --

Q6 gelact the synonym of the given word.
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Question ID : 9895807945
Chosen Option : --
Q.7  Sdia ihuz sl Ao g ksoEelibes Femsha sl cemimbinihe geonas e e il s

sidatinese 0 solod Mgt il

Hels Beremirerses=muhapey *epefdie: beoause of iz inceduzie delay of diz neaseeger,
Ans o 1. He have been feeling extremely unhappy vesterday

XX 2. He has feeling extremely unhappyv vesterday
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75 4 He was feeling extremely unhappy vesterday

Question ID : 9895807935
Chosen Option : --




Q.8 szt rw pnast appraprizte covtives s Fill mothe hinnk,

Peacanchiers s that abonrr 33 5% of porgaks w2nh diaksis may A sk discoder in hcin Dfenoms
Ans 1. have besn
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Question ID : 9895807938
Chosen Option : --

Q9 zalect the antonvm of the ziven word.

INDOLENT
Ans  of 1. Lively
& 2 Lifeless
< 3. Shggish
25 4 Tnert
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Question ID : 9895807931
Chosen Option : --

@1 Select the word which means the same as the group of words given.

A place in a large insiitution for the care of those who are ill.

Ans 31 Camp
2 Clinie
25 3. Infirmary
& 4 Shelter
Question ID : 9895807951
Chosen Option : --
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X 2. judge will hearing a casze
< 3. judge hears a case
X 4 No improvement

Question ID : 9895807934
Chosen Option : --
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Question ID : 9895807932
Chosen Option : --

041 Seleet the correctly spelt word.
Ans % 1. Knowledg

2 2 Knowledge

X 3. Knowlege

W 4 Euoledge

Question ID : 9895807954
Chosen Option : --

Comprehension:

In the following passaga some wards have been deleted.
Fill in the blanks with the help of the altematives given,

Man is a “social animal', Hence, showing a (1)
behaviour is equivalent to showing an animal behaviour,
Psychologists (2) that though violent behaviour
15 inherent but it can be managed. Providing a healthy and
cordial home enviromnent to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available forthose (4} need professional help.
Meditation and practicing voga also helps to (5)
negative attitude towards self and others.
SubQuestion No : 15

Q.1
5




Select the most appropriate option that will fill in the
blank mumber 1,
Ans ¥ 1. submissive
#% 2 ambitions
o 3 helpful

2 4 vicious

Question ID : 9895807940
Chosen Option : --

Comprehension:

In the following passage some waords have been deleted.
Fill i the blanks with the help of the alternatives given,

Man is a “social animal', Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour,
Psychologists (2) that though violent behaviour
i5 inherent but it can be managed. Providing a healthy and
cordial home enviromment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4} need prefessional help.
Meditation and practicing yoga also helps to (5)

negative aftitude towards self and others.

SubQuestion No: 16
°é1 Select the most appropriate option that will fill in the

blank number 2,
Ans a1 EAVE

X 2 saying

W 3 speak

»asay

Question ID : 9895807941
Chosen Option : --

Comprehension:




In the following passage some words have been deleted.
Fill ini the blanks with the help of the altermatives given,

Man is a “social animal', Hence, showing a (1)

behaviour 15 equivalent to showing an animal behaviour,
Pavchologists (2) thar though vialent behaviour
15 inberent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available forthose (4} need professional help.
Meditation and practicing voga also helps to {5)

negative attitude towards self and others.

SubQuestion No : 17

41 Select the most appropriate option that will fill in the
blank munber 3.
Ans o 1. tendency

75 2 aim
2 3. preference
75 4 choice

Question ID : 9895807942
Chosen Option : --

Comprehension:

In the following pazsage some words have been deleted.
Fill in the blanks with the help of the alternatives given,

Man is a “social animal', Hence, showing a (1)

behaviour is equivalent to showing an animal behaviour,
Pavchologists (2) that though violent behaviour
15 inherent but it can be managed. Providing a healthy and
cordial home enviromment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available forthose (4} need professional help.
Meditation and practicing voga also helps to (5)

negative attitude towards self and others.

SubQuestion No : 18




Q1 Select the most appropriate option that will fill in the
blank oumber 4.

Ans o 1. whom
& 2 when
2 3 who
& 4 whose

Question ID : 9895807943
Chosen Option : --

Comprehension:

In the following pazsage some words have been deleted.
Fill in the blanks with the help of the altematives given,

Man 15 a “social animal', Hence, showing a (1)

behaviour 15 equivalent to showing an animal behaviour,
Pavchologists (2) thar though vialent behaviour
15 inberent but it can be managed. Providing a healthy and
cordial home environment to kids help them to build
strong family values and reduce the (3) to react
violently. Rehabilitation homes and support programs are
available for those (4} need professional help.
Meditation and practicing voga also helps to (5)

negative attitude towards self and others.

SubQuestion No : 19
Q1 Select the most appropriate option that will fill in the
blank mumber 5.

Ans X1 deal
o 2 increase
& 3 unsettle
5 4 rectify

Question ID : 9895807944
Chosen Option : --

Q.2 [rom the piven opiom. el e sezmen in the cemtene e which cowsiss Ee srmeiatizl soo
0

itk the belp of skill Basad sdusyion offer e colepes, meoy siudsots will baoome 2lpikle for vzwos jobs

Ans  of 1. With the help of
75 2. eligible for varicus jobs
25 3. many students will become
& 4 gkill- based education offer in

[ Question ID : 9895807933




Chosen Option : --

°1-2 Select e most appropriate opticn o Gl in the blank.

A toddler's brain prety nch fully developed by the age of three,

Ans  of 1. are
K2 was
&3 s
4 were

Question ID : 9895807937
Chosen Option : --

Q2 Select the antonym of the given word.

ASSATITT
Ans o 1. Offend
X 2 Strike
X 3 Agree
4 Defend

Question ID : 9895807948
Chosen Option : --

92 Select the correctly spelt word.

Ans 1. Imfrastcmre
& 2 Infrastructur
v 3. Infrastructure
& 4 Infrastracture

Question ID : 9895807953
Chosen Option : --

@2 Select the option that means the same as the given idiom.

To murn over a new leaf
Ans % 1. To mun over the page of a book

25 2. To change one’s behavior for better
o 3 To be always carefil abour one’s behaviour
< 4. To make new things happen

Question ID : 9895807950
Chosen Option : --

Q2 Select the option that means the same as the given idiom.

To bury the hatchet




Ans % 1. To make someone happy
25 2 To make peace
X 3. To bury an axe
W 4 To bury old utensils

Question ID : 9895807949
Chosen Option : --

Section : Hindi Language

o o 7T o w7 faeE o

EEC]

Ans #T ‘Eﬁﬁ?
X g
X3 gaEdr
o ?ﬁﬁ

Question ID : 9895806725
Chosen Option: 1

92 fo AT weg & WA A FT O U

TE

Ans %1 ETT
X2 3T
X3 g
o 4 TET

Question ID : 9895806728
Chosen Option : 4

O3 o i TTETT = AT TR AT ST

ey amg 7 &
Ms o ST

X2 drg

PR i

IR G

Question ID : 9895806731
Chosen Option : 4

Q.4




e o F # F AT SUgES aRE T 90E S

FE ST I AT T ® e M|
i 'l:|1?|':r
X2 '-Flﬁ.'
Xo 7@
X4 Ft

Ans

Question ID : 9895806717
Chosen Option : 1

© P v = F BT T SgRS R 1 9O &

AT HTEr s
A XK A &

X 2 % gger

'3 amem

X 4w @

Question ID : 9895806716
Chosen Option : 3

Q6 S # % W T TEE W A FE F TR O s oY e = f
e XK o wE w

X 2 TTH T FTT

o TET e T w

24w o BfET = @

Question ID : 9895806730
Chosen Option : 3

Q7 fom T T #F T B SRR & & T 59e e & O wi

FATY & A A A
Ans ?(:-1. &h—ﬂ.‘

X2 ey

W 3 ETETT

#5 4 eOT

Question ID : 9895806714
Chosen Option : 3

Q.8




fedr =wir arramyr & T T e S

Tl § "Efoa
Ans g B
X2 A

X s

v 4 TR

Question ID : 9895806732
Chosen Option : 4

* R B F A F BT 3Uges e # T9S

e H I
Ans ?’i—“ ﬁ

2.

4.

x
e
X

§t4

Question ID : 9895806715
Chosen Option: 3

% W a5 T A T TE
Ms 3. ageT
2 2 &[T

3.

r
-’ 2

‘ﬁ“i;fl

Question ID : 9895806733
Chosen Option : 4

°1-1 fem 77 T # WS OF # IR S B e BT T

FIEw ¥ FTF & WA ¥
Ans ?{'1. TeTeh

2 'I:Eﬁ'

&3 anfaT

o TET

Question ID : 9895806712
Chosen Option : 4

| w75 A o W T S

Ans




e e G 4

j

Question ID : 9895806734
Chosen Option : 2

Q' T # T 3 BT 9 U #1 S R Fer qper & 06 S w4 g
Ans e @ﬂam

X 2 WEF W

W 3 Bgd T

> aga fast

Question ID : 9895806729
Chosen Option : 3

Comprehension:

A=t memn F e mnsr $ ofF gmn & 3= Ty
T TRl & HTER AifeT

FA TaET & & AT-mAT 9T gAY & § U deE e,
i (1) #r 3fea & @At F1 7= H#R 5= @A
FE H FTAT GO (2) w0 En A ST e gt
W & e o el TR S WiESOET £ S anr
T, AT AF __ (3) 7 g5 M= A g g A
dhmeT F T Fan, TEnE it FAeaET 4) & =
T wmer & e el smes oee we e E e wee
H 9T AU (5) & FT= 7o F BT R & I
£l
SubQuestion No : 14

% T #F TR fmw ww () F B
I9gFA =g Zm

Ans 2 1. BTEIE
}i’z.mﬁa‘q
P CIE
W 4 e

Question ID : 9895806720
Chosen Option : 4




Comprehension:

frafafa memn F e msr $1 9fF emmr & &5 7e
T TRl & HTE AT

A HiEET & & gAT-mET 9T gAY & § U dee H,

At (1) #r 3w ¥ wer o st 5= e
T H HIAT 90T (2) w9 &1l FeAT HT Ty =6 T
Y & ST | Segie e 3 wiesrEr fr S oan
FErt, 97 3 A (3) EF g5 3= o gAY o &
Fhamew & 9 Fon. BEns s gEeadr (4 &=
TH Ty ¥ e e s gee ag e £ it wee
H 97 A9 (5) Fr A= wee F AT SO g I
gl
SubQuestion No : 15

% TEmy # S U T (2) & T
I9gFA e F

Ans ‘f1:\r|-ﬁ1l?|-
x2 .
3 FEET
X 4 g

Question ID : 9895806721
Chosen Option: 1

Comprehension:

frrafafa memn F fEa wnsr # 9 emmr & &5 7e
wmﬁtaﬁgﬁaﬁrﬁm.

AT ®@taET B gET-EET W AN &3 H 1 EE E,
dr () Fr g F wEr @ wmue ait 5= T
FIA T HOAT GO (2) Fw En A HiT ey g
T & ST 8| FeEe e 3 FiesEr @ Fr oo
agrt, 9 3 A (3) &7 g5 3= o gAYy Fwr &
FhameT & 4 Fan. BEns s gEeadr (4 &=
T wer e el s ge wee e £ oo e
A 97 AT (5) & aT=T S F T A g I
gl

SubQuestion No : 16

Q.1
6




TEATYT B Fehiod ed U= (3) & R
IIGFA eg FIT
Ans ﬁ-1' ﬁ
72 Hie
ﬁ'aﬁ
W 4 gfror

Question ID : 9895806722
Chosen Option : 4

Comprehension:

frrafafEa memn F e mnsr $1 ofF gmmy & 39 Ty
T FRAT % HTER AT

AT ®teeT § & gE-mAT WA & F W Hes Wiy,
10 (1) #r 37 F @Ay F Zuer #7537 gArd
FIA H HTAT qOT (2) =91 &1 FET HT I =6
S & e o) e v sl wigser fr ar anr
T, SE AT AE _ (3) 7 g5 A= A g g A
whtame @ o Far, TEns st A (4) & =
T wey & e awE e gEe e e § s wew
H= 97 HIAH (5) #r AT WS & ToT A4 & S
gl
SubQuestion No : 17

% e & TR e T (4) F B
IUGFA UG F

Sl R e
fz.;:ﬂ‘q?;
X3 FE
;4:"4_%'%‘

Question ID : 9895806723
Chosen Option: 2

Comprehension:




fF=afEm ey F A ol & ofF ey F 49 R
T TRl & HTER AT

AT HtaET § & oET-mET 97 3N iV § U iEE WY,
A (1) #r 3T F I F =T AT I TEA
T8 H FTAT 9O (2) = &r FA i el sl
W & e | el Thon S wiEsrer £ S anr
T, I 4 A (3) AT g5 A= o7 gAN W H
dtamen & T Far, FeEne it gErawEr (4) & =
T wmer & P el wmes gee s e f i wee
el 97 HTA (5) & AT wens F O qOw & I
£l
SubQuestion No : 18

% TEmmer # TR fe wu (5) ¥ v
I9gFA S F

Ans H1'ﬁ|_ﬂ-
X 2 FEOT
P
W 4 [T

Question ID : 9895806724
Chosen Option : 4

Y fm T # A & T S oeE a7 o o

frar & B el W
Ans 1. TEER

X2 g

X o Foger

W EI'IE';T

Question ID : 9895806718
Chosen Option : 4

O £ AT weg F HTOETET AT FT T #70

HTTT
Ans FI'L m
X 2 AfEEr
v oeafe




X4 HATET

Question ID : 9895806727
Chosen Option : 3

% Rw e I oA e e Y oA a g b

st & gferT frer Tet B ¥
w1 oferar

& 2 gt $r

V' e =eoe

X4 B B

Question ID : 9895806709
Chosen Option : 3

% fm T g S W A w wE a g b

HTHEUT T g TF AUEITE OET FEat fr WUEET b
Ans oC 1 TF AVEATE

W 2 STET AT W7

X3 MTEYUT T FE

X 4 TUEF B

Question ID : 9895806710
Chosen Option : 2

% Ry aw = w7 T W W oA a g b

forfrr & faermer 927 =@ oroET B
Ans ?‘7.1E.5|ﬁ7§|

X2 e g

v o T TrEEr

X 4 R &

Question ID : 9895806711
Chosen Option : 3

Qfﬁn'mmmrﬁﬂ‘mgﬁi

He=rlT




AnS a1 TTERIT
v R
X 3 WA
K-4. aﬂ;ﬂ'

Question ID : 9895806726
Chosen Option : 2

Qéz mmmﬁmmmmm:ﬁmaﬂm AT & IO Fal

T ¥ FAE AR A
Ans ?;.'1. a ﬁ:

X 2w

X3 BT AT

W Hel= T JUET

Question ID : 9895806713
Chosen Option : 4




